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	Who Has More Candies?

	
	Worksheet



Who Has More Candies (I) ?
1. Ann has 6 candies. Jenny has 2 candies more than Ann. How many candies does Jenny have?
	( Ann / Jenny ) has more candies.
( Ann / Jenny ) has fewer candies.

	 Ann has:

	 Jenny has:

	Jenny has __________ candies.

	Expression : _________________________________


2. Tom has 6 candies. Jack has 2 candies less than Tom. How many candies does Jack have?
	( Tom / Jack ) has more candies.

( Tom / Jack ) has fewer candies.

	Tom has:

	 Jack has:

	Jack has __________ candies.

	Expression : _________________________________


Who has more candies (II) ?
1. Ann has 6 candies. Ann has 2 candies more than Jenny. How many candies does Jenny have?
	( Ann / Jenny ) has more candies.

( Ann / Jenny ) has fewer candies.

	Ann has:

	Jenny has:

	Jenny has __________ candies.

	Expression : _________________________________


2. Tom has 6 candies. Tom has 2 candies less than Jack. How many candies does Jack have?
	( Tom / Jack ) has more candies.

( Tom / Jack ) has fewer candies.

	Tom has:

	Jack has:

	Jack has __________ candies.

	Expression : _________________________________
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